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Demand: qg=o,p+ta,X +e€g
Supply: o =P p t €y
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Structural Form
Demand: Y=o, p+a,Xx +¢€g

Supply: q% =B, p, +eg4

Linear Combination of Demand and Supply
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Structural Form
Demand: qg=o,p +a,X + €4

Supply: o =B p + P, w, + €

Reduced Form
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Structural Form

Demand: qg=o,p+ta,X +e€g
Supply: G=Pip+P% +eg

Reduced Form
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Demand :
Supply:

Structural Form
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Structural Form
Demand : G =0y P+ 0 X + 0y plt T €y

Supply: o =B P +eg

Reduced Form
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Linear Combination of equations (1) and (4)
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Equation (2):
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Reduced Form
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